Cours 22 à 28 Évaluation sur les chaînes d’opérations 

[bookmark: _GoBack][image: Extraterrestre, Smiley, Clin D'Œil]Nom : ________________________

Chaînes d’opérations

Évaluation



1- Complète les égalités.

a) [bookmark: _Hlk114389065](-2)3 = __________________ = ______	d) -2 4 = ___________________ = _____

b) -32 = ____________________ = ______	e) -1 2 = ____________________ = _____

c) (-5) 2  = __________________= ______	g) (-5) 3 = ________________ __ = _____



#2.	─ (3 + (-4)) x (-3) + (- 4 ─ 7)2 =
	


	

	

	

	








#3.	4 ─ (3 – (- 7))2 ÷ (-3 + 7)0 =
	


	

	

	

	

	





#4.	(3 + (-5))2 – (-4 ─ 2 x (-2))5 =
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